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Turn in the following:
9.2 Day 1
9.2 Day 2



9.Blank - Intersecting Chords and Secants.notebook March 13, 2017

9.Blank: Intersecting Chords and Secants

Wa I’m U pS a) Find AB (you do not need to simplify the radical)

b+2’ (,%,) = O
A+ \ /—\\3 680

%
\)-q_a A‘S) 3239 \ AB =V O+ Lﬁ
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b) Multiply the following '
(V12 )(V5) =\ﬂ15 :‘ \[EO—&
-1 122 =19 =

B
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AE = J?\@__:MM- 8
BE = $ =18

N/%_ﬁ&r A\ 12 |

U \ﬁzc:ze? =\[36+36 =\72
\J@Z =T+ 1=N2

F«d&" UW 2
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Jp= \EZ\I 1\@9*“ 17=\10
PK = ﬂ@ﬁ‘ =\40

" % #1045 o0 7 720

Lpe \[ JTZ 16+ 4 =\20
PM = \%2“’16”4:"2_0

LP*PM =@ i m %

%
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If two chords intersect in a circle, they cut each other
proportionally. Algebra yields that the product of the lengths
of the sections from the first chord is equal to the product of
the lengths of the sections from the second chord.
According to this graphic, an appropriate equation is ...

» a*b = c*d



9.Blank - Intersecting Chords and Secants.notebook March 13, 2017

Ex 1]
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Ex 2]
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Assignment:
Worksheet 9.Blank HW



